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. L | Anincrease in the proportion of people living in towns and |
Define the term urbanisation | o i
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Fold along here

- Rates of urbanisation are UNEQUAL around the world

- Rates are highest in LICs (with high levels of rural-urban migra-
tion and high natural increase)

Describe and explain the way that urbanisation rates vary

round the world. .
around the world natural increase)

- Rates in NEEs are slower than in LICs as their urbanisation hap-
pened earlier.

Fold along here

| 1
] 1
I 1
I 1
I 1
I 1
| 1
| 1
| 1
] 1
I 1
: 1

1
I -Ratesare lowest in HICs — many live in cities and have a lower !
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. , L, These are the world’s largest cities with a population over
Define the term ‘Megacity

Fold along here
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' 10 million.
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Natural increase and migration

What are the two main reasons for urbanisation?

Fold along here

This is where there is a high number of young people

Define the term Natural increase

I 1
] 1
I 1
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I 1
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1
! (18-35) meaning more children will be born !
I 1
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What is meant by rural-urban migration?

What is meant by push and pull factors in the context of

rural-urban migration?

Astrea Academy Trust

Give 2 examples of Pull factors

2<

|
I
|
|
I
|
|
|
|
E
Give 2 examples of Push factors !
|
|
|
I
|
|
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Describe the location of Lagos :
|
|
|
]
I
I
I
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|
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An increase in the proportion of people living in towns and
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cities. !
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Fold along here

Push factors are reasons want to leave the countryside

Pull factors are the reasons people want to move to the
countryside.

Fold along here

Any reason why people might want to move TO a place e.g.

More jobs available
More facilities / shops etc.
Better healthcare and education

Fold along here

Any reason why people might want to move FROM a
place e.g.

lack of jobs
Lack of opportunities
Poor access to education and health care

Fold along here

1
1
1
1
1
|
:
1
Poor soil meaning farming is hard i
:
1
1
1
1
|
1
1

Lagos is situated on the West Coast of Africa in Nigeria
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Describe the location of Lagos within Nigeria
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What are the reasons for rapid growth of population in :
Lagos? |
i

I

I

|

|

|

|

]

e Coastal city

.

e Next to Gulf of Guinea

e Close to the border with Benin

SW of Nigeria '

Fold along here

. Home to 10% of Nigeria’s population
[ )
money earned of all states in Nigeria
>
8
(=1
=
&

1
1
1
1
1
1
|
1
History of economic growth — generates highest i
1
1
1
1
1
1
1
1

? Ivo 68

1

1

1

1

1

|

1

. Nigeria’s centre of trade and commerce |

1

. 80% of Nigeria’s industry is based in Lagos '

1

. Lagos generates about 30% of Nigeria’s GDP — at cen- !

w tre of Nigeria’s modern economy i
)

B |

2 1

Q 1

= 1

€ |

e Main financial centre of West Africa

e Global city with a substantial and growing foreign
board population

e 80% of flights into West Africa go into Lagos airport

Fold along here

High natural increase (average age of 19 — many of

[ )
child bearing age)

o Rural-urban migration — particularly since the 1970s
oil boom
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What social opportunities have led to development in
Lagos?
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How have economic opportunities in Lagos resulted in :
development? )
|
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Name any 3 problems associated with urban growth in :
Lagos |
E

|

I

]

]

I

I

I

More jobs available than anywhere in Nigeria

Better education opportunities

1
1
1
1
1
1
1
1
1
:
1
Health care whilst not free is available |
1
|
1
Can find jobs in informal if not formal sector '
1

1

1

1

1

1

1

Fold along here

e Poor education / health in rural areas

e Farming — hard for low wages

e Land in Niger delta polluted by oil industry
e Political unrest in the North (Boko Harem)

Fold along here

e Health Care — more readily available — helped

to increase life expectancy

e Education — better opportunities available — led to
increase in expected years of schooling and those
educated are more likely to find work.

Fold along here

1

1

1

|

1

. Lagos has more jobs than anywhere in Nigeria !

(in formal and informal sector) — has helped to in- i

crease GNI per capita '

1

. Major industrial centre because of coastal location '

1

) for shipping, international airport etc.. attracting !
L

= business. |

s :

S 1

o 1

& i

1

Any of...

1. Unemployment

2. Crime

3. Air Pollution

4. Water Pollution
5. Waste Pollution
6. Traffic Congestion
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Describe how the problem of traffic congestion is being
tackled in Lagos

Astrea Academy Trust

Describe how the problem of air pollution is being tackled in
Lagos

2<

Fold along here

e  Bus Rapid Transit (BRT) system — separate lane for
buses to reduce travel time (although not enough)

e Constructing Rail Mass Transit system

e Plans for new waterway network of ferries

Fold along here

e The city has brought 3 helicopters to help spot
criminal activity

e Community policy is being used

e A DNA forensic lab has been established

Fold along here

? Ivo 68

e In Dec 2016 the city pledged to stop importing dirty
fuel

e Move to improve public transport (not much success
to date)

e Banned import of miniature generators.

Fold along here

Makoko Slum — “Neighbourhood Hotspots” and “Floating

1
1
1
1
I
1
1
1
1
:
1
I
communities Project” !
1
1
1
1
1
I
1
1
1
1
1
1

e Homes are built from basic materials — e.g. wood / metal
sheets — many built on stilts built over the lagoon

e Many houses lack basic facilities / sanitation

e  Malaria and malnutrition — major problem — infant mortali-
ty rates are high

e Disease spreads quickly — people living closely together

® Incomes are low — high unemployment rates.



Astrea Academy Trust

e

What are ‘neighbourhood hotspots’ and how have they im-
proved the quality of life in Makoko?

3

Apne®

e Shared facilities which provide a place for

/
o

education

a,

<,
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people to gather and learn and improve

e They improve quality of life by:

® Providing source of energy (multi-purpose biogas plant fed by
organic waste and run by sunlight)

e Better access to water and sanitation (improving health) —
have simple water harvesting and water filter systems

e Locals employed to help improve local infrastructure —

Fold along here
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Squatter settlements often have poor levels of sanitation.
What does the term ‘sanitation” mean?

Low quality housing, built on land not legally owned by the
residents (also known as shanty towns / informal
settlements)

Fold along here

N

Sanitation refers to access to adequate toilets / sewerage
systems and clean water to maintain good public health.

Fold along here
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How did the floating communities project in Makoko aim to !
improve quality of life for the poor? |
I

]

I

I

I

I

|

|

I

]

Fold along here

“Rapnt®

.

floating houses would reduce flooding due to sea level rise

floating school provided a new school for children to improve education,

as well as a community meeting place

unskilled workers hired to build these structures—could then learn tech-

niques to build / improve their own homes to help improve quality of

life.

the floating school was environmentally sustainable (with solar panels

and collected and stored rainwater) - providing energy and access to
water.
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Give 3 reasons why Lagos is a major industrial centre in !
Nigeria. E
I
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Any of.. R
1. Coastal location (sheltered harbour for shipping / trade)
2. Major internal airport (80% of flights into W Africa come
via Lagos)
. High population—big marked for goods and services
4. Well educated / skilled workforce available due to the

schools / universities.



